5.

.

Teabuye et fines:

A, jmining area of zgnal rainfalt
B. joinisg arca of coual heigh

C. joining area of squad snow full
1L Maone of thesa

Which af Toltowine is 2 wrong mueh?

Ao Froupic ol cancer = 2FITN

. Troopic ol capricom "~ 237275

O Merble - metamarphie eock

B, Warging - formution of earth crast

Ascending nrder of size of inaer planar s

A Mereary, Venes, Baily bas

B, Moercory, Mars, Yenas, Carth

C. Morcry, Muors, Earth, Venus

B, Mercury, Venus, Mars, Bard

Which was the fira Iidian sseet it leowched from

(redirn sail?

A Bhashiu B, Apple

. Hobini P Aryabhaela

Which of Fellowang represent the relationship
betweaen fenis fan, cricket player and sludenys®

".’vhu: aloree ix spplied o aives unpuh
iy equal

Bl

A& foree applicd

B, ocnsealue prodoced V'S
. chanee in momenbam

I3, Mone aof these

Fragon giand of sonaks s kik

=R

%, B lilams are:

Al colowr Tilms wsed by binlogisd w phatograph
livipg orgunises

B, photemicrographs of reicrooorganizns from
wariony hahitars

. accomulation of micro-ovganisen at surfaces
spch ag thoso of rock, tooth or an oil drop

B phetograptuie TEien rade 1hrough Fert

tation process OF certain induserial
uTgAnis

9. Sodinm sulphale is wsed Lo abworh wam [
in organie compounds such as gl
s0C v Su|phale car be remow
A, chromaoyraphy
C,  decapitadion
1t fiar end Y0 arg
A. FEAatIaa Calatts
T dserong fsomorpk
11 [Co (NH.,]
A, squal G, petrdecdrat
£ B Mone af these
12, A CYTIELC N heating gives:
A, HOCHON
0 NH, B GO, and NH,
Clallowing mplecule possess equal value
and energy ond dissoeintion anergy!
i, B, NH,
& f”E-I Do PO
t4 T |pl~:]hlaat|l. Mezrna befenps tn
A cpidaria I3 platyhelrunthes
L. anpeiids I wolbusea
B3, Cells of preson having down-syndroee possess:
A 40 cheroneismig:
B AT chmompsame
. 48 chrammosomne
13, afspp ) chemmosome

15. For 20 aming acids e oo
A 6l codes R.
4 codes 3

61 coes
20 conica




17, Green ear disesse of hajea is te;

Ao fungni disease B. bacterial disease

C. protezoic disease D, viral disesee C. D L. A
18, A gracual eise in barometer heighi indicaes:

A appronch to fair weather 28, Which 15 wrongly matched

B approach of immediate swomm A RAM - Read Aveess Memory

€. tkelthood of ram fall B. ROM - IRcad Only memory

D, nothing sigrifican : L. CFU -~ Central Frocessing Unil
1% Lenpth of the air of g civele of radins Som T ~ Compact [k

sublcading an argle mcaning 45°; 6. The cepacity of 3.5' Roppy is:

A Arfdem B, 5n/dcm A 24 MB

£ 6 cm . Emfd cm B t.dd4 MR
2 cos (200 has vadoe: C, 244 ME

A0 E. 1 N 114 MB ¢

G- Do 27, ALGOL - 60, DASIC, C+.J e
21. Centroad ol the tnangle whose veriees arc A A high levet lonpunpe

(-1, 00, B (3, =2) and C (8, 2} is: B b Toved g e

A (20 B. (3,0 £, systemn software

C. dm D. Nonaeof these 0. None of mg.,
A2, BEquatizg afcitcle wlien thecnordinam of the e
painds of o diameter arc (3, 43 and (<3, ~4) is:
Al xtayt =38 B 1':2+}'2'-":35
C. .IT+2}'?-.-.-25 LD ,rz—'}.":'.?ﬁ
23 Ilng - .LE} o T sabdion:
A xlop(l+x8) v Ztan x4+
B log{f4+x®—Zvs2ran™ xag
Colog(tarw2r—Tuan 4o
Do Jog{fe sl io—2tun 2+
24, State the acrial nurmber of figure which do
inte the several pabern:

O

- FANEL
CONTROL PANEL
EXSTEMNSION

Wone of iese

ANSWERS

4 3 fi T 8 9 1i}
B A C D C c a
14 15 16 17 1% 19 20
B B A A A B A
4 25 20 - 28 L] LI
A A L] A M i B
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